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T = (1, 1, 1, 1, 1, ?, ?, ?, ?, . . . , ?, ?, ?, ?, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0).
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g(x) = Ae−βϕ(x)e−λxΘ(x).
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g(x) = 4Θ(x)xe−2x.
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xaKa(x) = 2a−1

∫ +∞

0
ya−1e

−x2

4y e−y dy, (x > 0)

Ka(x) = K−a(x)

Ka−1(x)−Ka+1(x) = −2a

x
Ka(x),

K ′
a(x) = −Ka−1(x)−

a

x
Ka(x),

Ka−1(x) +Ka+1(x) = −2K ′
a(x),

K ′
a(x) = −Ka+1(x) +

a

x
Ka(x),
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B(x|σ) := 1

σ
ω
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σ
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ω(x) =
Θ(1− |x|)
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∂μ

∂τ
+ μ(x, τ)

∂μ

∂x
= D

∂2μ

∂x2
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T = (1, 0, 1, 0, 1, 0, 1, 0, . . . , 1, 0, 1, 0, 1, 0, 1, 0, 1, 0).
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